

## Clamped Splines

**Example 3** In Example 1 we found a natural spline  $S$  that passes through the points  $(1, 2)$ ,  $(2, 3)$ , and  $(3, 5)$ . Construct a clamped spline  $s$  through these points that has  $s'(1) = 2$  and  $s'(3) = 1$ .

**Solution** Let

$$s_0(x) = a_0 + b_0(x - 1) + c_0(x - 1)^2 + d_0(x - 1)^3,$$

be the cubic on  $[1, 2]$  and the cubic on  $[2, 3]$  be

$$s_1(x) = a_1 + b_1(x - 2) + c_1(x - 2)^2 + d_1(x - 2)^3.$$

Then most of the conditions to determine the 8 constants are the same as those in Example 1. That is,

$$2 = f(1) = a_0, \quad 3 = f(2) = a_0 + b_0 + c_0 + d_0, \quad 3 = f(2) = a_1, \quad \text{and}$$

$$5 = f(3) = a_1 + b_1 + c_1 + d_1.$$

$$s'_0(2) = s'_1(2) : \quad b_0 + 2c_0 + 3d_0 = b_1 \quad \text{and} \quad s''_0(2) = s''_1(2) : \quad 2c_0 + 6d_0 = 2c_1$$

However, the boundary conditions are now

$$s'_0(1) = 2 : \quad b_0 = 2 \quad \text{and} \quad s'_1(3) = 1 : \quad b_1 + 2c_1 + 3d_1 = 1.$$

Solving this system of equations gives the spline as

$$s(x) = \begin{cases} 2 + 2(x - 1) - \frac{5}{2}(x - 1)^2 + \frac{3}{2}(x - 1)^3, & \text{for } x \in [1, 2] \\ 3 + \frac{3}{2}(x - 2) + 2(x - 2)^2 - \frac{3}{2}(x - 2)^3, & \text{for } x \in [2, 3] \end{cases} \quad \blacksquare$$

In the case of general clamped boundary conditions we have a result that is similar to the theorem for natural boundary conditions described in Theorem 3.11.

**Theorem 3.12** If  $f$  is defined at  $a = x_0 < x_1 < \dots < x_n = b$  and differentiable at  $a$  and  $b$ , then  $f$  has a unique clamped spline interpolant  $S$  on the nodes  $x_0, x_1, \dots, x_n$ ; that is, a spline interpolant that satisfies the clamped boundary conditions  $S'(a) = f'(a)$  and  $S'(b) = f'(b)$ . ■

**Proof** Since  $f'(a) = S'(a) = S'(x_0) = b_0$ , Eq. (3.20) with  $j = 0$  implies

$$f'(a) = \frac{1}{h_0}(a_1 - a_0) - \frac{h_0}{3}(2c_0 + c_1).$$

Consequently,

$$2h_0c_0 + h_0c_1 = \frac{3}{h_0}(a_1 - a_0) - 3f'(a).$$

Similarly,

$$f'(b) = b_n = b_{n-1} + h_{n-1}(c_{n-1} + c_n),$$

so Eq. (3.20) with  $j = n - 1$  implies that

$$\begin{aligned} f'(b) &= \frac{a_n - a_{n-1}}{h_{n-1}} - \frac{h_{n-1}}{3}(2c_{n-1} + c_n) + h_{n-1}(c_{n-1} + c_n) \\ &= \frac{a_n - a_{n-1}}{h_{n-1}} + \frac{h_{n-1}}{3}(c_{n-1} + 2c_n), \end{aligned}$$

and

$$h_{n-1}c_{n-1} + 2h_{n-1}c_n = 3f'(b) - \frac{3}{h_{n-1}}(a_n - a_{n-1}).$$

Equations (3.21) together with the equations

$$2h_0c_0 + h_0c_1 = \frac{3}{h_0}(a_1 - a_0) - 3f'(a)$$

and

$$h_{n-1}c_{n-1} + 2h_{n-1}c_n = 3f'(b) - \frac{3}{h_{n-1}}(a_n - a_{n-1})$$

determine the linear system  $\mathbf{Ax} = \mathbf{b}$ , where

$$\mathbf{A} = \begin{bmatrix} 2h_0 & h_0 & 0 & \cdots & 0 \\ h_0 & 2(h_0 + h_1) & h_1 & \cdots & 0 \\ 0 & h_1 & 2(h_1 + h_2) & h_2 & \cdots & 0 \\ \vdots & \vdots & \vdots & \vdots & \vdots & \vdots \\ 0 & \cdots & h_{n-2} & 2(h_{n-2} + h_{n-1}) & h_{n-1} \\ 0 & \cdots & 0 & h_{n-1} & 2h_{n-1} \end{bmatrix},$$

$$\mathbf{b} = \begin{bmatrix} \frac{3}{h_0}(a_1 - a_0) - 3f'(a) \\ \frac{3}{h_1}(a_2 - a_1) - \frac{3}{h_0}(a_1 - a_0) \\ \vdots \\ \frac{3}{h_{n-1}}(a_n - a_{n-1}) - \frac{3}{h_{n-2}}(a_{n-1} - a_{n-2}) \\ 3f'(b) - \frac{3}{h_{n-1}}(a_n - a_{n-1}) \end{bmatrix}, \quad \text{and} \quad \mathbf{x} = \begin{bmatrix} c_0 \\ c_1 \\ \vdots \\ c_n \end{bmatrix}.$$

This matrix  $A$  is also strictly diagonally dominant, so it satisfies the conditions of Theorem 6.21 in Section 6.6. Therefore, the linear system has a unique solution for  $c_0, c_1, \dots, c_n$ . ■ ■ ■

## Clamped Cubic Spline

To construct the cubic spline interpolant  $S$  for the function  $f$  defined at the numbers  $x_0 < x_1 < \dots < x_n$ , satisfying  $S'(x_0) = f'(x_0)$  and  $S'(x_n) = f'(x_n)$ :

**INPUT**  $n; x_0, x_1, \dots, x_n; a_0 = f(x_0), a_1 = f(x_1), \dots, a_n = f(x_n); FPO = f'(x_0); FPN = f'(x_n)$ .

**OUTPUT**  $a_j, b_j, c_j, d_j$  for  $j = 0, 1, \dots, n - 1$ .

(Note:  $S(x) = S_j(x) = a_j + b_j(x - x_j) + c_j(x - x_j)^2 + d_j(x - x_j)^3$  for  $x_j \leq x \leq x_{j+1}$ .)

**Step 1** For  $i = 0, 1, \dots, n - 1$  set  $h_i = x_{i+1} - x_i$ .

**Step 2** Set  $\alpha_0 = 3(a_1 - a_0)/h_0 - 3FPO$ ;  
 $\alpha_n = 3FPN - 3(a_n - a_{n-1})/h_{n-1}$ .

**Step 3** For  $i = 1, 2, \dots, n - 1$

$$\text{set } \alpha_i = \frac{3}{h_i}(a_{i+1} - a_i) - \frac{3}{h_{i-1}}(a_i - a_{i-1}).$$

**Step 4** Set  $l_0 = 2h_0$ ; (Steps 4, 5, 6, and part of Step 7 solve a tridiagonal linear system using a method described in Algorithm 6.7.)

$$\mu_0 = 0.5;$$
$$z_0 = \alpha_0/l_0.$$

**Step 5** For  $i = 1, 2, \dots, n - 1$

$$\text{set } l_i = 2(x_{i+1} - x_{i-1}) - h_{i-1}\mu_{i-1};$$
$$\mu_i = h_i/l_i;$$
$$z_i = (\alpha_i - h_{i-1}z_{i-1})/l_i.$$

**Step 6** Set  $l_n = h_{n-1}(2 - \mu_{n-1})$ ;  
 $z_n = (\alpha_n - h_{n-1}z_{n-1})/l_n$ ;  
 $c_n = z_n$ .

**Step 7** For  $j = n - 1, n - 2, \dots, 0$

$$\text{set } c_j = z_j - \mu_j c_{j+1};$$
$$b_j = (a_{j+1} - a_j)/h_j - h_j(c_{j+1} + 2c_j)/3;$$
$$d_j = (c_{j+1} - c_j)/(3h_j).$$

**Step 8** **OUTPUT**  $(a_j, b_j, c_j, d_j$  for  $j = 0, 1, \dots, n - 1)$ ;  
**STOP.**

